



## Los Angeles Regional Water Quality Control Board

Mr. Mark Pestrella Los Angeles County Flood Control District 900 S Fremont Ave Annex Building 2<sup>nd</sup> Floor Alhambra, CA 91803 VIA CERTIFIED MAIL RETURN RECEIPT REQUESTED No. 7017 1450 0002 1559 2441

AMENDMENT TO WATER QUALITY CERTIFICATION FOR PROPOSED CONCRETE LINED CHANNELS MAINTENANCE ACTIVITIES PROJECT (Corps' Project No. SPL-2012-00422-BLR), LOS ANGELES COUNTY (File No. 13-029)

Dear Mr. Pestrella:

The Los Angeles Regional Water Quality Control Board (Los Angeles Water Board) is in receipt of your notification on February 21, 2019, requesting an amendment of your Conditional Clean Water Act Section 401 Water Quality Certification for the subject project issued on October 2, 2015 (Certification File No. 13-029).

Your notification on February 21, 2019 requested to change the number of reaches maintained and revise the lengths of some reaches. Seven (7) reaches are added because the reaches were recently transferred to Los Angeles County Flood Control District, and five (5) reaches are removed because they were found to be redundant with existing reaches. The lengths of fourteen (14) reaches are revised because updated GIS information showed the original lengths to be incorrect. These changes represent a total of 5.21% reduction in reaches being maintained under this permit.

Total Reach Lengths from 2016	2,224,446	LF
Total Reach Lengths from 2019	2,108,531	LF
Difference	115,915	LF
% Reduction	5.21%	

In response to your request, Attachment C of Certification File No. 13-029 is modified as shown in the attached Table. Deleted text is shown in strike out and additional text is shown underline.

I have determined that the above-proposed modifications do not constitute a significant change in the nature or scope of the activities described for the project in the original application for Certification 13-029. Therefore, all of the proposed modifications are hereby incorporated into Certification File No. 13-029 and no additional action by this agency pursuant to Section 401 of

the Clean Water Act is necessary. This determination is limited to the proposed amendment contained in your notification to the Los Angeles Water Board dated February 21, 2019 and described herein, and does not eliminate the Applicant's responsibility to comply with any other applicable laws, requirements, or permits.

Should you have questions concerning this certification action, please contact Valerie CarrilloZara, Section 401 Program, at (213) 576-6759.

Sincerely,

Renee Purdy

**Executive Officer** 

6/5/19

## Table 1

REACH No.	DESCRIPTION	UPSTREAM LIMIT (U/S)	DOWNSTREAM LIMIT (D/S)	CITY	TG	LF	Width (ft)	Length * Width (ft^2)	ACRES	NOTES	CHANNEL
192	LEFEINGWELL CREEK	Santa Fe St	Hawas St	LOS ANGELES CO	707.G5	3,445	25	86,125	1.98	This limit is included in Reach 202	RECTANGULAR
269	PROJ-76	Torrance Blvd.	Normandie Ave	LOS-ANGELES	764-A6	2,631	29	73,668	4.69	This limit is included in Reach 250	RECTANGULAR
276	DDI 9 1200' U/E VICTORIA 800' E/S Hawes	Mulberry Dr.	Mystic St.	LOS ANCELES ONTY	707 E6	2,836	30	85,060	+.96	This limit is included in Reach 202	RECTANGULAR
278	PD 867	Harcourt	SPRR	RANCHO DOMINGUEZ	765 B1	264	26	<del>6,864</del>	0.16	This limit is included in Reach 235	RECTANGULAR
279	PD-996	SP-RR	Victora	RANGHO DOMINGUEZ	765-C1	444	12	5,772	0.13	This limit is included in Reach 235	RECTANGULAR
					TOTAL LINEAR FEET	9,619		TOTAL ACRES	5.91		

Total 7 Reaches A	

REACH No.	DESCRIPTION	UPSTREAM LIMIT (U/S)	DOWNSTREAM LIMIT (D/S)	HYDRO UNIT CODE	CITY	TG	LF	Width (ft)	Length * Width (ft^2)	ACRES	CHANNEL
295	LIBERTY CANYON CHANNEL DUTLET (PD 2197)	700' S side of Liberty Canyon Rd.	800' SOUTH SIDE OF LIBERTY CANYON ROAD	160701020402	AGOURA HILLS	588 E1	100	10	1,000	0.02	TRAPEZOIDAL
296	BALLONA CREEK-UPPER	Cochran Ave	Washington Blvd	160701040300	LOS ANGELES	633-A6	8,242	15	123,630	2.84	TRAPEZOIDAL
297	BI 0009 (Los Cerntos Unit 3 Line A)	Clark Ave	Woodruff Ave	180701060606	LAKEWOOD, LONG BEACH	766-B1 to 796-D2	22,476	60	1,798,080	41.28	RECTANGULAR
298	BI 0009 (Los Cerritos Unit 3 Line D)	BI 0455	BI 0009 (Los Cerritos Unit 3 Line A)	180701060606	LONG BEACH	796-B2	1,948	40	77,920	1.79	RECTANGULAR
299	BI 0009 (Los Cernitos Unit 2 Line E)	Candlewood St	BI 0009 (Los Cerntos Unit 3 Line A)	160701060602	LAKEWOOD, LONG BEACH	766-D3 to 796-D2	17,587	24	422,088	9.69	RECTANGULAR
300	BI 0044 Mandeville Canyon	220' W/O Mandeville Canyon Rd	Santa Monica Canyon Channel	160701040300	LOS ANGELES	631-E3	185	10	1,850	0.04	RECTANGULAR
301	8i 0587 (Line G)	Van Ness Ave	Del Amo Biva	160701060102	CARSON	763-H384	1,422	25	35,550	0.82	TRAPEZOIDAL
			***		TOTAL LINE	AR FEET	51,960		TOTAL ACRES	56.48	

REACH No.	DESCRIPTION	UPSTREAM LIMIT (U/S)	DOWNSTREAM LIMIT (D/S)	CITY	TG	LF	Width (ft)	Length * Width (ft^2)	ACRES	CHANNEL TYPE
89	HASKELL CANYON CHANNEL	COPPER HILL DRIVE 385 ft U/S of Copper Hill Drive	Bouquet Canyon Channel	SAUGUS-SANTA CLARITA	4461-84 , 4461-86	5404 5,940	60	356,400	8.18	RECT/TRAP
185	BALLONA CREEK	blwn La Salle Ave & Overland	Centinela Ave	LOS ANGELES	672 D7	22175 13,572	203	2,755,116	63.25	RECTANGULAR
186	CENTINELA CREEK	<del>Jefferson-</del> I-405 Frwy	Ballona Creek	LOS ANGELES	672 D7	9600-10,129	62	627,998	14.42	RECTANGULAR
187	COYOTE CREEK	North Fork Coyote Creek Valley View Ave	San Gabriel River	LONG BEACH	738 A1	31510 36,087	60	2,886,960	66.28	TRAPEZOIDAL
189	DOMINGUEZ CHANNEL (120TH 6T TO HENRY-FORD)	116tn St.	Vermont Ave	GARDENA	763J1	67992 34,014	208	7,074,912	162.42	TRAPEZOIDAL
193	LOS ANGELES RIVER	Southern Ave	Willow Street	LONG BEACH	735	67261 52,767	94	4,960,098	113.67	TRAPEZOIDAL
196	SANTA MONICA CYN CHANNEL (PACIFIC- OCEAN TO SUNSET BU/D	Adolfo Dr. South End of Riviera Country Club	100' D/S of PCH	LOS ANGELES	631 D5	16432 6,350	21	133,350	3.06	RECTANGULAR
200	CENTINELA CREEK LOWER	La Tijera 1-405 Frwy	Jefferson La Cienega Blvd	LOS ANGELES	672 D7	6530 <b>-9,156</b>	61	558,516	12 82	RECTANGULAR
202	DDI 9	Scott Ave	Coyote NF	LOS ANGELES CO	707 G5	6610 11,346	43	487,878	11.20	RECTANGULAR
203	MILAN CREEK	Valley View Springview Dr	PD 212 / Collamor Dr Coyote Creek North Fork	LA MIRADA	737 D3	10066 11,506	39	448,734	10.30	TRAPEZOIDAL
204	MCKINLEY AVENUE DRAIN	Avalon Blvd	Walnut-St 91 Frwy	CARSON	678D4	4420 2,104	24	50,496	1.16	TRAPEZOIDAL
250	PROJ 76 [U-2 212TH STREET]	Western	Normandie	LOS ANGELES	763 J 6	<del>3992</del> 2,857	27	77,139	1.77	RECTANGULAR
268	SANTA MONICA CHANNEL (DONI-RD RIVIERA- COUNTRY CLUB)	Nimited Ave. Sunset Blvd.	100 D/C PCH-North End of Riviera Country Club	LOS ANGELES	631 B7	2699 4,003	43	172,129	3.95	RECTANGULAR
264	LA TUNA CANYON CHANNEL	La tuna debris basin	Burbank channel	SUN VALLEY	503 B6 TO 533 B1	12067- 12,940	28	362,320	8.32	RECTANGULAR
		N			TOTAL LINEAR FEET	212,771		TOTAL ACRES	472.81	Washing Address of the

## **DISTRIBUTION LIST**

via email:

Nandini Moran LADPW

Elizabeth Payne CWA Section 401 WQC Program Division of Water Quality State Water Resources Control Board

Melissa Scianni U.S. Environmental Protection Agency, Region 9

Erinn Wilson California Department of Fish and Wildlife

Bonnie Rogers U.S. Army Corps of Engineers Regulatory Branch, Los Angeles District

Jonathan Snyder U.S. Fish and Wildlife Service